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VN IEE) A& ShIE&J 1 BFLRIFT & ERXE e N aATFFNY 1054 (20234)
&5 | B 1819H 5811H 8H23H 11816H
Al |ERAKEEH S0 11:10 12:20 10:20 11:00
A2 BB (K9) - TG TG TG TG
- |[HKGIE (BREE) m 5.00 5.00 5.00 5.00
A3 | KRR - i i i i
- |FTEOXE - i ] ] i
A4 7Kz m 99.46 99.63 99.66 99.63
A5 |58 Gl m3/S 5.14 12.65 11.20 9.75
A6 | 2GR m 0.42 0.69 0.53 0.54
AT |$AKIAGE m 0.08 0.14 0.11 0.11
A8 |5 °C -3.0 8.5 29.0 8.5
A9 |7 °C 2.0 9.5 21.0 8.1
- | R#AKkDE - RIFIBE RIFIBE RAFIBE RIFIBE
INLRES NG REN) - EEFEHR EEFEHR EEFEHR EEFEHR
Ald |BR OB - Fd=l Fd=l Fd=l Fd=l
A15 | ERE Gl cm >100.0 >100.0 >100.0 >100.0
Bl [pH (at25°C) - 7.6 75 7.6 75
B2 |BOD mg/L <0.5 <0.5 <0.5 <0.5
B3 [CODy, mg/L 1.6 1.9 1.9 1.5
B4 |SS mg/L 3 4 6 <1
B5 DO mg/L 14 12 8.9 12
B6 |DOfEfIE (B3f1E) % 101 104 100 103
B9 [#z& (T-N) mg/L 0.58 0.31 0.30 0.28
B10 [#Y > (T-P) mg/L 0.043 0.026 0.029 0.032
C25 | &% mg/L 0.4 - 0.4 -
C26 [1IZ5% mg/L 0.19 - 0.31 -
C77 |1 4-YFFH> mg/L - - <0.005 -
El |7vE=YLBERESR mg/L <0.05 <0.05 <0.05 <0.05
E19 |BHErExR%E (TOC) mg/L 0.8 0.8 1.0 0.8
G2 |BE |3 2 2 2 <1
X62 |EEMABEER (M-FC) {&/100mL - - 6.8E+1 7.0E+0
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4|o;1;0;9|1;2|8;1 1;0;6|0;6;0
KR % Bl AT £ Eilll=Il BRIP4 ERKXE e XY aTHFNY SH05%(20234F)
55 &} = B 1A198 5811H 88238 | 11A16H
- [ARNEHOI/ AR T 1 )la ug/cm? - - <0.1 3.6




